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1. 5Kk , 1/ 2W
, , 2. 2K 1/ 2W

35V, 100



1000Q1/ 2 W

10 8000 16000 24000
8000 3.4+3.6+3.5 =3
16000 5.6+5.6+6. 2 =3
24000 7.6 7.5 7.7 <3
32000 9.1 9.1 9.1 =3
40000 10.6 10.0 10.1

32000
. 5

. 8

. 6

1

10. 2



2 (0.7+0.5+0.7)+3=0.7
4 (0.9+1.3+1.1)+3=1.1
8000 6 (1.9+1.9+1.9)+3=1.9

8 2.3+2.542.4 +3 2.4

10 3.0+3.1+3.2 =3 3.1

2 (0.9+1.6+1.7)+3=1.4

4 (2.5+2.3+2.4)+3=2.4
16000 6 (3.7+3.8+4)+3=3.8

8 (4.4+4.8+4.6)+3=4.6

10 (5.9+5.5+5.4)+3=5.6

2 (1.9+2.1+2)+3=2

4 (3.3+4.0+3.4)+3=3.6

6 (5+5.4+4.8)+3=4.9 5
24000 8 (6.5+5.8+5.8)=36

10 (8.2+8.0+8.1)+ 3=8.1

2 2.5+2.642.5 =3 2.6

4 3.944.244.5 + 3=4.2

6 T7.247.247.2 + 3=7.2
32000 8 9.3+9.2+49.4 =+ 3=9.3

10 11.9+12+11.9 =3 12

2 3.2+43.3+3.3 +3 3.3

4 5.245.4+5.5 +3 5.4

6 8.9+8.8+8.7 <+ 3=8.8
40000 8 11.5+11.6+11.2 +3 11.4

10 15.6+15.3+15.3 + 3=15.4




20000

2 3.6+3.9+4. 1 =3
4 6. 1+5. 9+6 |3 6
40000 _
(20000+206003) 9.6+9.5+9.8 =3
8 12.1+12. 2+1(2 =3
10 16. 2+16.5+16 =3
2 3.2+3.3+3.3 +3 3.3
4 5.245.4+5.5 +3 5.4
40000 6 8.9+8.8+8.7 + 3=8.8
8 11.5+411.6+11.2 + 3 11.4
10 15.6+15.3+15.3 =+ 3=15.4
1/ 2W
2.2k 1/ 2W
L AN
35V 1000uf59
1 2 1
1.5k 1/ 2W



2. 2K 1/ 2W

Part1l
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8000 16000 24000 32000 40000
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4000
3200

2400
—=-1600
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